The stability of a layer of a viscous nonlinearly magnetizing ferrofluid in the non-stationary uniform magnetic field oriented arbitrary to a free surface is considered with provision for the mechanical vibrations of the layer. In case of the magnetic field composing of a constant portion and a harmonically time-varied portion, providing the rationality of relations between electromagnetic frequencies and those of the vibratory effects, the problem reduces to the study of an infinite system of the linear equations for the Fourier series of the amplitude of disturbances of a free surface of the ferrofluid. The matrix of this system is a square bunch of the known matrices whose parameter is the amplitude of the parametric effects. The problem is reduced to a linear spectral problem in which the amplitude of the parametric effects is the eigenvalue. Neutral curves of the stability are found. It is established that variations in angle of orientation of the magnetic field and an increase in its stationary component may result in the bicritical points and the transfer from the harmonic oscillation to the subharmonic oscillation. The effects of the stationary inclined magnetic field on a critical amplitude of the mechanical vibrations are nonmonotonic and depend on not only the orientation of the magnetic field but on the thickness of the fluid layer. A decrease in the thickness of the ferrofluid layer can result in an increase in the threshold of the initiation of a parametric instability and excitation of waves of a lower length at its surface when losing the stability. Distinctions of the vibratory and electromagnetic mechanisms in evolution of the parametric instability of a free surface resulted from two-frequency modulation of the magnetic field are studied.





$$\operatorname{div} \vec{v} = 0, \qquad (1)$$

$$\rho \frac{d\vec{v}}{dt} = -\nabla \left(p_0 + \psi^{(\rho)} \right) + M \nabla H + \eta \Delta \vec{v} + \rho \vec{G} , \qquad (2)$$

$$\operatorname{div} \vec{B} = 0, \operatorname{rot} \vec{H} = 0, \qquad (3)$$

$$\vec{B} = \mu(\rho, H)\vec{H} , \qquad (4)$$

$$\vec{G}(t) = (-g + \omega_g^2 a_g \cos(\omega_g t))\vec{e}_z, g - , \vec{e}_z - , \vec{e}_z - , (z).$$
(1) - (4)
(1) - (4)

$$v_n = -\frac{\partial \zeta}{\partial t} \frac{1}{\sqrt{1 + \zeta_x^2 + \zeta_y^2}} \qquad z = \zeta; \qquad (5)$$

$$< P_{jk} \tau_{1j} n_k >= 0, < P_{jk} \tau_{2j} n_k >= 0 \qquad z = \zeta ,$$
 (6)

$$\langle P_{nn} \rangle = -\sigma \operatorname{div} \vec{n} \qquad z = \zeta;$$
 (7)

$$\vec{v} = 0 \qquad z = -h ; \qquad (8)$$

$$<\vec{B}\cdot\vec{n}>=0,<\vec{H}\cdot\vec{\tau}>=0$$
 $z=\zeta, z=-h;$ (9)

$$\vec{H} = \vec{H}_{\infty} \qquad |z| \to \infty.$$
 (10)

 P_{jk}

:

$$P_{jk} = -\left(p_0 + \psi^{(\rho)} + \frac{H^2}{8\pi}\right)\delta_{jk} + \frac{H_j B_k}{4\pi} + 2\eta v_{jk}.$$
 (11)

(1) - (11)
;
$$\vec{v}_{-}$$
, $p_{0} -$
; M_{-}
; M_{-}
; \vec{v}_{-}
; \vec{v}_{-}
; \vec{v}_{-}
; \vec{v}_{-}
; \vec{v}_{-}
; \vec{v}_{-}
; \vec{n}_{-}
; \vec{v}_{-}
; \vec{v}_{-}

<....> –

,

$$\Delta \Phi = -4\pi \operatorname{div}\left(\frac{M(\rho, |\nabla \Phi|)}{|\nabla \Phi|} \nabla \Phi\right).$$
(12)

,

$$<\mu \frac{\partial \Phi}{\partial z} >= \zeta_x < \mu \frac{\partial \Phi}{\partial x} > + \zeta_y < \mu \frac{\partial \Phi}{\partial y} > \qquad z = \zeta,$$
 (13)

$$<\frac{\partial\Phi}{\partial x}>+\zeta_{x}<\frac{\partial\Phi}{\partial z}>=0, <\frac{\partial\Phi}{\partial y}>+\zeta_{y}<\frac{\partial\Phi}{\partial z}>=0 \qquad z=\zeta, \qquad (14)$$

$$<\mu \frac{\partial \Phi}{\partial z} >= 0, \quad <\Phi >= 0 \qquad z = -h,$$
 (15)

$$\nabla \Phi = \vec{H}_{\infty} \qquad |z| \to \infty \,. \tag{16}$$

-

•

:

-

[15].
(1) - (16)

$$\vec{v}^0 = 0, \quad \zeta^0 = 0, \quad \nabla \Phi_1^0 = \vec{H}_0(t), \quad \nabla \Phi_j^0 = \vec{H}_\infty(t), \quad j = 2, 3,$$
(17)

$$H_{0x} = H_{\infty x}, \quad H_{0y} = H_{\infty y}, \quad \mu H_{0z} = H_{\infty z},$$

,

$$\vec{H}_{\infty}(t)$$

z = 0 -

.

_

-

_

(17)

$$\zeta' = \zeta - \zeta^0, \quad v' = v - v^0, \quad \nabla \Phi' = \nabla \Phi - \vec{H}_0,$$
 (18)

•

:

.

$$|\vec{H}'| = |\nabla \Phi - \nabla \Phi^0| \qquad |\nabla \Phi^0|, \qquad -$$
(4)

:

 \vec{M}'

$$\vec{M}' = \left(\frac{M}{H}\vec{H}\right)' = \frac{1}{H^2} \left[\left(\frac{\partial M}{\partial H}\right)_0 - \left(\frac{M}{H}\right)_0 \right] (\vec{H}_0\vec{H}')\vec{H}_0 + \frac{M_0}{H_0}\vec{H}'.$$
(19)

(

):

$$\Delta \Phi_j = 0 \quad \Omega_j, \quad j = \overline{2,3}. \quad (20)$$

$$\Delta \Phi_1 + c_0 \vec{H}_0 \nabla (\vec{H}_0 \nabla \Phi_1) = 0 \qquad \Omega_1, \tag{21}$$

$$\mu \frac{\partial \Phi_1}{\partial z} - \frac{\partial \Phi_2}{\partial z} + c_0 H_{0z} (\vec{H}_0 \nabla \Phi_1) = (\vec{H}_0 \nabla \zeta) (\mu - 1) \qquad z = 0, \qquad (22)$$

$$\frac{\partial \Phi_1}{\partial x} - \frac{\partial \Phi_2}{\partial x} = \frac{(\mu - 1)}{\mu} H_{0z} \zeta_x, \quad \frac{\partial \Phi_1}{\partial y} - \frac{\partial \Phi_2}{\partial y} = \frac{(\mu - 1)}{\mu} H_{0z} \zeta_y \qquad z = 0, \quad (23)$$

$$\Phi_1 = \Phi_3, \quad \mu \frac{\partial \Phi_1}{\partial z} - \frac{\partial \Phi_3}{\partial z} + c_0 H_{0z} (\vec{H}_0 \nabla \Phi_1) = 0 \qquad z = -h, \qquad (24)$$

$$\nabla \Phi_j = 0, \ j = 2,3 \qquad |z| \to \infty, \tag{25}$$

:

$$c_0 = \frac{4\pi}{H_0^2} \left(\frac{\partial M}{\partial H} - \frac{M}{H} \right)_0.$$
(2),

•

$$v_{z} = W:$$

$$\left(\frac{\partial}{\partial t} - v\Delta\right)\Delta W = 0 \qquad -h < z < 0, \qquad (26)$$

 ν –

$$W = 0, \frac{\partial W}{\partial z} = 0 \qquad z = -h.$$
(27)

(1)
$$\frac{\partial v_x}{\partial x} = \frac{\partial v_y}{\partial y} = 0$$
, $z = -h$.
(5)

$$\frac{\partial \zeta}{\partial t} = W \qquad z = 0.$$
 (28)

-

(6), :

$$\eta \left(\Delta_{\Gamma} - \frac{\partial^2}{\partial z^2} \right) W = 0 \qquad z = 0, \qquad (29)$$

$$\Delta_{\Gamma} = \frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial y^2}.$$
(11),
,
:

, :

$$\langle P_{zz} \rangle = \sigma \Delta \zeta$$
 $z = 0$. (30)

$$p_{0} = \left\langle -\frac{H^{2}}{8\pi} + \frac{H_{z}B_{z}}{4\pi} \right\rangle_{z=0} - \psi^{(\rho)} + 2\eta \frac{\partial W}{\partial z} - \sigma \Delta \zeta$$
(31)
$$-\left\langle \frac{H^{2}}{8\pi} \right\rangle + \frac{B_{n}}{4\pi} \langle H_{n} \rangle = -2\pi \left\langle M_{n}^{2} \right\rangle.$$

$$\nabla_{\Gamma} = \vec{e}_{x} \frac{\partial}{\partial x} + \vec{e}_{y} \frac{\partial}{\partial y}$$

(2),

•

$$\left(\rho\frac{\partial}{\partial t} - \eta\Delta\right)\frac{\partial W}{\partial z} = \Delta_{\Gamma}\left(p_0 + \psi^{(\rho)} - \int_0^H MdH - \rho G\zeta\right).$$
(31), p_0
(20) - (29)

,
$$(20) - (29)$$

$$\left(\rho \frac{\partial}{\partial t} - \eta \Delta - 2\eta \Delta_{\Gamma}\right) \frac{\partial W}{\partial z} = -\left(\rho G(t) + \sigma \Delta\right) \Delta_{\Gamma} \zeta - \frac{1}{4\pi} \Delta_{\Gamma} \left\langle (\mu - 1)^{2} H_{0z} \left(\frac{\partial \Phi}{\partial z} - \vec{H}_{0} \nabla \zeta\right) + (\mu - 1)(1 + c_{0} H_{0z}^{2})(\vec{H}_{0} \nabla \Phi) \right\rangle_{z=0}.$$

$$(32)$$

 $\mu = \mu(\rho, H),$

$$W(t, x, y, z) = w(t, z)e^{i(\vec{k}\cdot\vec{r})}, \ \zeta(t, x, y) = \xi(t)e^{i(\vec{k}\cdot\vec{r})}, \Phi_{j}^{0}(t, x, y, z) = \phi_{j}(t, z)e^{i(\vec{k}\cdot\vec{r})}, \ j = \overline{1,3}, \ \vec{k} = (k_{x}, k_{y}), \ \vec{r} = (x, y), k = \sqrt{k_{x}^{2} + k_{y}^{2}} - ,$$
(33)

$$: \mu = \text{const}, \dots c_0 = 0.$$
(20), (21)
(33)
$$:$$

$$\phi_1 = a_1 e^{kz} + b_1 e^{-kz}, \ \phi_2 = a_2 e^{-kz}, \ \phi_3 = a_3 e^{kz},$$
(22) - (25)
(34)

$$a_{1} = \frac{(\mu - 1)^{2} e^{-kh} (H_{0z} / \mu + iH_{\tau})\xi}{(\mu + 1)^{2} e^{kh} - (\mu - 1)^{2} e^{-kh}}, \quad b_{1} = \frac{(\mu - 1)(\mu + 1)e^{kh} (H_{0z} / \mu + iH_{\tau})\xi}{(\mu + 1)^{2} e^{kh} - (\mu - 1)^{2} e^{-kh}},$$
$$a_{3} = \frac{\left((\mu - 1)^{2} + (\mu - 1)(\mu + 1)\right)e^{kh} (H_{0z} / \mu + iH_{\tau})\xi}{(\mu + 1)^{2} e^{kh} - (\mu - 1)^{2} e^{-kh}}$$
(35)

$$a_{2} = \frac{\left((\mu - 1)^{2} e^{-kh} - (\mu - 1)(\mu + 1)e^{kh}\right)H_{0z} + \left((\mu - 1)^{2} e^{-kh} + (\mu - 1)(\mu + 1)e^{kh}\right)iH_{\tau}}{(\mu + 1)^{2} e^{kh} - (\mu - 1)^{2} e^{-kh}} \xi.$$
(33) - (35) (32) :

$$\left(\rho\frac{\partial}{\partial t} - \eta\frac{\partial^2}{\partial z^2} + 3\eta k^2\right)\frac{\partial w}{\partial z} = \left(\rho G(t)k^2 - \sigma k^4 - \frac{(\mu - 1)^2 k^3}{4\pi \left((\mu^2 + 1)\operatorname{th}(kh) + 2\mu\right)} \left[H_{0z}^2(t)\left(\operatorname{th}(kh) + \frac{1}{\mu}\right) - H_{0\tau}^2(t)\left(\operatorname{th}(kh) + \mu\right)\right]\right]\xi,$$

$$H_{0\tau} = \left(\vec{H}_0 \cdot \vec{k}\right)/k - \frac{1}{4\pi \left((\mu^2 + 1)\operatorname{th}(kh) + 2\mu\right)} \cdot \frac{(36)}{4\pi \left((\mu^2 + 1)\operatorname{th}(kh) + 2\mu\right)} \cdot \frac{(36)}{$$

,
$$H_{0z} = H_0 \sin(\theta), \quad H_{0\tau} = H_0 \cos(\theta).$$
(37)

$$H_0(t) = H_{00} + m_H \cos(\omega_H t).$$
(38)

,

 ω_g

 ω_H

 θ –

:

$$\omega_g = n_g \omega, \quad \omega_H = n_H \omega \,, \tag{39}$$

$$n_g, n_H - \dots$$
 (36) - $2\pi/\omega$., $w \xi$

$$w(t,z) = e^{\gamma t} \sum_{n=-\infty}^{\infty} w_n(z) e^{in\omega t}, \quad \xi(t) = e^{\gamma t} \sum_{n=-\infty}^{\infty} \xi_n e^{in\omega t}, \quad (40)$$

 $\gamma = s + i\alpha$

(26) [4]:

$$\left(\frac{\partial^2}{\partial z^2} - k^2\right) \left(\frac{\partial^2}{\partial z^2} - q_n^2\right) w_n = 0 \qquad -h < z < 0, \qquad (41)$$

$$q_n^2 = k^2 - \frac{s + i(\alpha + n)\omega}{v}.$$
(41) :

•

$$w_n(z) = P_n \operatorname{ch}(kz) + Q_n \operatorname{sh}(kz) + R_n \operatorname{ch}(q_n z) + S_n \operatorname{sh}(q_n z),$$
(42)

(27) – (29)

_

•

k,

$$P_{n} = \nu \left(q_{n}^{2} + k^{2}\right)\xi_{n}, \quad R_{n} = -2\nu k^{2}\xi_{n},$$

$$S_{n} = \frac{(kP_{n} + R_{n}\left[k\operatorname{ch}(q_{n}h)\operatorname{ch}(kh) - q_{n}\operatorname{sh}(q_{n}h)\operatorname{ch}(kh)\right])}{q_{n}\operatorname{ch}(q_{n}h)\operatorname{sh}(kh) - k\operatorname{sh}(q_{n}h)\operatorname{ch}(kh)},$$

$$Q_{n} = \frac{R_{n}}{k}\left[q_{n}\operatorname{sh}(q_{n}h)\operatorname{ch}(kh) - k\operatorname{ch}(q_{n}h)\operatorname{sh}(kh)\right] - \frac{S_{n}}{k}\left[q_{n}\operatorname{sh}(q_{n}h)\operatorname{ch}(kh) - k\operatorname{sh}(q_{n}h)\operatorname{sh}(kh)\right].$$

$$(43)$$

$$(43)$$

$$(43)$$

(36),

$$\sum_{n=-\infty}^{\infty} F_n \xi_n e^{\left[s+i(\alpha+n)\omega\right]t} = 0,$$
(44)

.

•

; , , :

$$H_0^2(t) = H_{00}^2 + \frac{m_H^2}{2} + 2H_{00}m_H\cos(n_H\omega t) + \frac{m_H^2}{2}\cos(2n_H\omega t). \quad (46)$$

$$H_0(t) \quad G(t) \quad (44), \quad :$$

 k^2 .

$$\sum_{n=-\infty}^{\infty} e^{\left[s+i(\alpha+n)\omega\right]t} \left((F_n^{\nu} - F_n^H H_{00}^2)\xi_n - F_n^H H_{00} m_H (\xi_{n-n_H} + \xi_{n+n_H}) - \frac{F_n^H m_H^2}{4} (2\xi_n + \xi_{n-2n_H} + \xi_{n+2n_H}) - \frac{k\omega_g^2 a_g}{2} (\xi_{n-n_g} + \xi_{n+n_g}) \right) = 0,$$
(47)

$$F_{n}^{\nu} = gk + \frac{\sigma k^{3}}{\rho} - \frac{\nu^{2}}{q_{n} \operatorname{cth}(q_{n}h) - k \operatorname{cth}(kh)} \left\{ \frac{4q_{n}k^{2}(q_{n}^{2} + k^{2})}{\operatorname{sh}(q_{n}h)\operatorname{sh}(kh)} - q_{n} \left[4k^{4} + (q_{n}^{2} + k^{2})^{2} \right] \operatorname{cth}(q_{n}h)\operatorname{cth}(kh) + k \left(4q_{n}^{2}k^{2} + (q_{n}^{2} + k^{2})^{2} \right) \right\}, \quad (48)$$

$$F_{n}^{H} = \frac{(\mu - 1)^{2}k^{2} \left[\sin^{2}(\theta) \left(\operatorname{th}(kh) + \frac{1}{\mu} \right) - \cos^{2}(\theta) \left(\operatorname{th}(kh) + \mu \right) \right]}{4\pi \rho \left((\mu^{2} + 1) \operatorname{th}(kh) + 2\mu \right)}.$$

$$(47), (48)$$

-

[7],

.

. . [11]. (,), [6] ($h \rightarrow \infty$): $H_R^2 = \frac{8\pi\sqrt{\sigma\rho g}\mu(\mu+1)}{(\mu-1)^2}.$ (49) _

79

_

$$(47) , \xi_{n} . \xi_{n$$

(47)

-

[11]:
$$v = 0,1$$
; $\mu = 5$; $\sigma = 30$ / ²; $\rho = 1,2$ / ³.





,



		, a		_	m_{Hg} .	-
()	. 3b)				
	k_g (k_{sg})			
3a)	,					-

 m_{Hc} .

:

$$\theta_{c} = \frac{1}{2} \arccos\left(\frac{1 - \mu^{2}}{1 + 2\mu \,\text{th}(\text{kh}) + \mu^{2}}\right).$$
(52)





,

[8]

[9],

,

, , . . . 4b) ,

[15],

. (47)

-

1. Colloidal Magnetic Fluids: Basics, Development and Application of Ferrofluids / S. Odenbach, W. Beiglbock, J. Ehlers et al. – Berlin : Springer, 2009. – 430 p.

 Ibrahim R. A. Liquid Sloshing Dynamics: Theory and Applications / R. A. Ibrahim. – Cambridge University Press, 2005. – 947 p.

 Kumar K. Linear Theory of Faraday Instability in Viscous Fluids. / K. Kumar // Proc. Roy. Soc. London. – 1996. – Vol. 452, 1948. – . 1113 – 1126.

 Muller H. W. Parametrically driven surface waves on viscous ferrofluids / H. W. Muller // Phys. Rev.E. – 1998. – Vol. 58, 5. – . 6199 – 6205.

 Mekhonoshin V. V. Faraday instability on viscous ferrofluids in a horizontal magnetic field: Oblique rolls of arbitrary orientation. / V. V. Mekhonoshin, A. Lange // Phys. Rev.E. – 2002. – Vol. 65. – p. 061509-1 – 061509-7.

10. Bashtovoi V. G. Excitation and study of subcritical waves on a magnetic fluid surface / V. G. Bashtovoi, R. E. Rosensweig // J. Magn. Magn. Mater. - 1993. - Vol. 122, 1-3. - p. 234 - 240.

 Bajaj R. Parametric instability of the interface between two viscous magnetic fluids / R. Bajaj, S. K. Malik // J. Magn. Magn. Mater. - 2002. - Vol. 253, 1 - 2. - pp. 35 - 44.

Hennenberg M. On the Hill Equation Describing Oscillations of a Ferrofluid Free Surface in a Vertical Magnetic Field / M. Hennenberg, S. Slavtchev, G.Valchev // Microgravity Sci. Technol. – 2010. – Vol. 22, 3. – p. 455 – 460.

 14. . 3
 . 2:

 / . .
 . :
 , 2002. - 516 c.

 15. . .
 . .
 . - 2014.

 - .16, 3. - .36 - 51.
 . . .
 . . .
 . . .

 Patsegon N. F. The volumetric parametric resonance in magnetizable medium / N. F. Patsegon, S. I. Potseluiev // Visnyk of V. N. Karazin Kharkiv National University. Ser. Mathematics, Applied Mathematics and Mechanics. – 2015. – Vol. 81. – p 12 – 27.

> . . , 09.02.2016, 23.06.2016

84

5.

6.